
21 24

23 1 15

10

124

11

3 8

22

19

20

2

16

7 14

25
17

ECO REV. DESCRIPTION DATE BY

0.A PRELIMINARY RELEASE JUN-25-2013 PAUL RADA

ITEM 
NO. PartNo DESCRIPTION QTY.

1 CONN.100559 Conn, Feed Through 32A Phoenix 1846592 VDFK 4 BK 2

2 CONN.100582 Conn, Feed Through 32A Phoenix 1846602 VDFK 4 RD 2

3 CORE.100294 Core 12455 - IBC300-24 Rev.1 1

4 FAST.100067 SCREW,  4-40 x 7/16 PH,  PH, SS 1

5 FAST.100092 SCREW, 6-32 x 3/4 PH, PH, SS 3

6 FAST.100107 WASHER, #6, SPLIT, SS 3

7 FAST.100223 SCREW, 10-32, PH, PH, 3/8 IN LONG 4

8 FAST.100239 SCREW, 6-32x1/2 HEX HEAD TAPTITE 16

9 FAST.100272 WASHER, #6 FLAT 5/16 OD  SS 3

10 FUSE.100025 FUSE HOLDER HKP 1

11 FUSE.100036 FUSE MDA 5 AMP 1

12 HDWE.100150 POWER CLIP KUNZE KU-4-430 1

13 MGTC.100254 Ferrite Core EMI L/F 15.0MM, LFB250150-000 2

14 HDWE.100311 BUDWIG RUBBER FEET SF8T-TPR87-B 4

15 HDWE.100334 MOUNTING CLIP T0 220/TO247 - AAVID MAX 03NG 1

16 HDWE.100346 IMTH Thermal Pad Kit - 12455 0.0275

17 HEYC.1137 HEYCO STRAIN RELIEF 1137 (SP3-4) 1

18 LABL.100354 LABEL, FRONT,  BCA PWS 320 - 12455 1

19 LABL.100355 LABEL, TOP,  BCA PWS 320 - 12455 1

20 LABL.100356 LABEL, BACK,  BCA PWS 320 - 12455 1

21 METL.200712 CHASSIS EXT. 19 BCA-PWS 320 12455 1

22 METL.200713 BOTTOM PLATE EXTR. 18 IBC 12455 1

23 METL.200714 FRONT PANEL EXTRUSION 19 BCA-PWS 320 12455 1

24 METL.200715 REAR PANEL EXTRUSION 19, BCA-PWS 320 - 12455 1

25 WIRE.100172 POWER CORD 3x14 AWG SJT SHIELDED 1.5M 1

D

C

B

AA

B

C

D

1
2

45678

8 7 6 5 4 3 2 1

PROPRIETARY AND CONFIDENTIAL
 

 INFORMATION CONTAINED IN THIS 
DRAWING IS SOLE PROPERTY OF 
ANALYTIC SYSTEMS WARE LTD. 
REPRODUCTION IN PART OR WHOLE 
WITHOUT WRITTEN PERMISSION OF 
ANALYTIC SYSTEMS IS PROHIBITED.

INTERPRET GEOMETRIC TOLERANCING
PER: ASME Y14.5 - 2009

MATERIAL

FINISH

ENG.DSGN.

ENG. APPR.

Q.A.

PROJECT

DATENAME

TITLE:

SIZE

B
DWG.  NO. REV

SCALE: 1:3

UNLESS OTHERWISE SPECIFIED 
ALL DIMENSIONS ARE IN INCHES

Final Assy IBC300-24 – 
12455 

SHEET 1 OF 3

FASY.101035 MKT B
DO NOT SCALE DRAWING

 
TOLERANCES:
 

ANGULAR:  .5    BEND  0.015
ONE PLACE DECIMAL     0.030
TWO PLACE DECIMAL     0.020
THREE PLACE DECIMAL   0.010

03-JUL-12

ED

8128 RIVER WAY 
DELTA BC V4G 1K5 CANADA
TEL: (604) 946-9981
FAX: (604) 946-9983
www.analyticsystems.com

FASY.101035 MKT B

THIRD ANGLE PROJECTION

MFG APPR.

0.A
CAGE 
CODE: L0694

PRODUCT

3
P:\12455 BCA-PWS 320 300W Intelligent Battery Charger\03 Mechanical Hardware\FASY.101035\

AB

GB

AM

12455 IBC 300

03-JUL-12



 9
.6

6 

 1
0.

7 

 8.00 

 3
.2

3 
 3

.5
4 

 7
.0

0 

 7.38 

 1
.3

3 



 9
.6

6  1
0.

19
 

 1
0.

7 

 8.00 

 3
.2

3 
 3

.5
4 

 7
.0

0 

 7.38 

 1
.3

3 

 10.70  8.00 

 3
.2

0 


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View8

	Sheet3
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13


